SOME PRACTICE QUESTIONS FOR CLASS IX TERM-1 EXAM
1. Afemr ——er ufsiofes qu 3
o
@2 2 X2 (d) feast &5 St mdt / None of these

Rationalized form of the number is:

2. Y7 & w3 »igd U : (The exponent form of /7)
@73 )@ Q@)  (d)fegst f5F = 59t/ None of these
3. 0 w3 /5 ¥ fegarg ufgHy Aftmret € farest J:

The number of rqtional number between 0 and /5 is:
(@1 (b)3 (c)d=t adT/ None of these (d) »Edrfes / infinitely many

4.9 f&x Aftmr J1 ( V9 isa number)

(a) ufaHw Hitmf/ Rational number (b) w8 Rftr/ Prime number

(c) »iufaie Aftmr / Irrational number  (d) fegat 25" =t &dt° / None of these
5.7%9 /5 = 2.236 3t 21—\/5 T H® off d=dr ? (If v/5 =2.236 then value of % is:)

(a) 0.2236 (b)2.236  (c)22.36  (d)223.6
6. 0-235 @ s U= ( Sformof 0-235is: )

(a) = (b) 222 (c) = (d) fegst f¥5° St &t / None of these

900 900 999

7. (128)°/7 = ¥® 9291 2. (The value of (128)°/7 is: )

(a) 32 (b) 64 (c) 16 (d) feaat f&8° =T &d° / None of these
8. 2°x 277 ¥ ¥& u3T aJ | (Find the value of 2° x 277 is))

(a) 3 (b) (©=  (d)fegst 49" FEt 5t/ None of these
9. JIE5H3 I8 | (Factorize) : 2 x2-9x+10

(@) (x-2) (2x-5) (b) (x+2) (2x-5)

(c) (x-2) (2x+5) (d) feaat &8 =T &4t / None of these

10. 7 p(x) =2x2-x4+2 J 3T P(2) T WS J=ar?

If p(x) =2x2-x+2 then the value of P(2) will be

(@) 6 (b) 8 (c) 10 (d)4
11. I& fofimr f&9° fagzr x=7 = I® 37

Which one of the following is solution of x=7

(@) (7,0) (b) (0,7) (c) (0,0) (d) (3.1)

12. y& fie € foger vid & I T&? 1 (What are the coordinates of origin?)
(a) (1,0) (b) (0,1) (c)(0,0) (d) It &t/ None of these




13. fea fig T & 58 act T A3 fdar ger I2( The sum of angles around a point is:)
(@) 0° (b) 90° (c) 180° (d) 3600

14. ¥ € AHT3T Juet § feq Tt Jur & 3t FHarz df T fdd A3 g 76 7
How many pairs of corresponding angles are formed when a transversal intersects two

parallel lines ?
(@) 6 (b) 3 (c)8 (d) 4

15. B w3 Uy JuT 3 9 AHSS € IIF IO © of B I8
What is the name of all parts made by horizontal and vertical line ?
(a) 9=/ Quadrant (b) m3® / Plane

(c) x gJ7/ x axis (d) y gd/ y axis

16. AHST 93990 © B o8 € 13 foar Jer I7
What is the sum of adjacent angles of parallelogram ?
(@) 60°  (b) 180° (c)90° (d) 360°

17. < fog fifar 9993 &8 1000 T Hfewr AT I ,I9F Wes' T A& ot Jedt
fag fg3 455 W3 Ue 545 mi@er J:

The probability of each event, when a coin is tossed for 1000 times with frequencies:
Head:455 & Tail: 545 is:

a) 0.455 & 0.545 b.) 05&0.5

c) 0.45&0.55 d.) 455 & 545

18. A & W BE A Heeae T AF;

The sum of all probabilities equal to:

a.) 4 b.) 1 c)3 d)2
19. 273+103+(=37)3=.ooveee.
(a) 9990 (b) 29970 (c) -29970 (d) 0

20.fG3 I fo3g @ wWeAd A AB || CD, EF L CD W3 £GED = 135°,£AGE ¥ H& U3 &9

If AB || CD, EF L CD and 2GED = 135° as per the figure \ .
given below. The value of ZAGE is: = : -
a). 120° b). 140°
c). 90° d). 135°

A
|1
v

21. Find the value of k, if (x-2) Is a factor of p(x)=x’+2x+k .
k T WS U3 9 AT (x-2) ,p(x)= x*+2x+k T B JrEadz I=

(a)2 (b) -2 (c) 1 (d) -8
22. Rafdg e U geT J.A point has dimension.
a. 1 b.2 c.3 d.o
23. 8 gafes < ogaer farest 3
There are number of Euclid’s Postulates

a.3 b.4 c.5 d.6




24.9 P(E) = 0.05 3t P(E &) T H& J=dr
If P(E) = 0.05 then find the value of P(E not)
A) 0.05 B) 0.95 c)o D) 0.5

25. Find one solution of the equation 6x-y =12 .

AT 6x-y = 12 T 8 I8 U3T 9|

a) (3.4) (b) (2,0) (@) (0.2 (A (6,6)
26. y=7x+2 has............ Py=TIx+2%€T .

a) a unique solution (€& fedyz I J)

b) only two solution (fA9e € I J)

c) infinitely many solution (&3 JU I<t I8 J)

d) None of these ( f&&" g g &IT)

27. Three angles of a quadrilateral are 85°, 90° and 55°. What is the fourth angle?

fig 93937 © f3& a€ 75°, 90° W3 75° J€ 37 BE I af J=dr ?

a) 140° b) 15° c) 120° d) 130°
28. The graph of y=b is a straight line parallel to the................

Y=be m&y . . @ AHT39 & AI® 3y Jet J|
a) x- axis only(J=HBx- TJ) b) y-axis only (J=By- TJ)
c) Bothaxes (2aTfgnis) d) none of the axes

2.7 P (A) wear AT Aeest § TIATRT 9 3t fors feus faosr ams A T 2 If
represents probability of an event A then which of the following is true?
(a) PA)<O (b) P(A) >1
(c) 0=PA)=1 (d) -1 =PA) =1
30. x-U9 3 AfES fan fag = Jt fdaT I2am? What is ordinate of a point on x-axis?
@x (b) vy (©0 (I
31. The angles of a quadrilateral are in the ratio 2:3:5:8. Find the smallest angle of the quadrilateral.
g 93990 T d£2:3:5:8 € WaU'3 ST I6| A g3dgA T AS S 8T ae J:
a) 30° b) 40° c) 80° d) 60°
32. J5 fafsnr 29" faa3t fam wear &t Hg=ar st d As=t? Which of the following cannot be
probability of an event?
(a)0.25 (b) 77% () O (d) 2
33. The point which lie 6 units on the downward direction from origin on y-axis is:

gg e A y-ud' 3 yw fie 3 Jowt fom feg 6 feardt & gt '3 3
a) (610) b) (016) C) (01_6) d) (_610)
34. Find the remainder when 2x*+ x*-2x+1 is divided by x-2.
2+ X’-2x+1 8§ x-2 5B I91 T 3 Felt U I
(a) 12 (b) 20 (c)17 (d) 19
35. If the length of rectangle is (x+2) cm and breath is (x+1) cm, find the area of the rectangle

A R W3 & SFE (x+2) cm W3 BIH (x+1) cm I= 3T @A W3 T 9338 U3T 3 |

(@) (x*+2x+3) cm? (b) (x*+2x+2) cm® (c) (x*+3x+2) cm’ (d) (x*+3x+3) cm?

P(A)




36. 8V15+2V3 = oo, .
(a) 5v3 (b) 16vV5  (c) 4V3 (d) 45

(a) infinite (W&SI) (b) 2 (c) 3 (d) None of these (feat T Jgt &)
38. Simplify (\/§+\/§)2

W5 +v2)? & HIB IJ |
(a) 2+10V7 (b) 2+7V/10  (c) 7+2V10 (d) 7+ 102

39.In the given figure if A, B and C are three points on a line and B lies between A and C, then :-

3 I fgsafeg Aad A, B3 ¢ fod v 3 AfE3 55 g g6 w3 B e A3 c & fegag AfES

I 3 -
g—o—eo———eo—P
(a) AB+AC=BC (b) AB+BC=AC  (c) AC+BC=AB A B c

(d) None of these ( feat 'J Jet &t )

40. InFigif AB || CD, 2 APQ = 50° andz PRD = 127°, find x and y. «—
f&3 a2 fg339 <9 AB || CD, 2 APQ =50° "3 £ PRD = 127°,, 3t x »3
y.ET HS U3T I |
(a) X=77°,y=50° (b)y=77°, x= 50° e 127°

(b) X=50°,y=127° (d) X=127°, y=50 <5 R

50° L2

41. In given figure, if AB|| DE, Z/BAC=35" and ~CDE =53°, find ZDCE.
&3 a1® fJ39 f&9 Ao AB|| DE, ZBAC=35" 13 /CDE =53° 3=
3t /DCE ¥ H® U3T &9 |

(a) 92° (b)88° (c)102° (d)108°

42) Sum of internal angles made on same side by transversal and two parallel lines are:

T AH3T Juet § o aeel 9ur enfd d¢ AE ‘3 8¢ fEd uH € »ieds asf & 73 de7 J:

A) 100° B) 180° C) 90° D) 360°
43) Which of the following is a rule of congruence of triangles?
J& foinit f&9" faazT f3gat o ATSdmAHT @ ¥ g= J:
A) SAS B) ASS C) SSA D) none of these

44) Three angles of a quadrilateral are 75°, 90° and 75°. What is the fourth angle?
fex 93937 ¥ 35 d 75°, 90° W3 75° I5| 98 IF U3T A |
A) 140° B) 150° C) 120° D) 130°
45) In APQR, if P = 2Q=50° and PR=3.5 cm then the length of QR will be
APQR &9 79 £P = £Q=50° »13 PR=3.5 cm J< 37 QR & ®gret I
A) 3cm B) 3.5cm C) 7cm D) 6cm




